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it gte2 MM UDAl gles TAl ots Eooto] ¢rdds R& ottt EfAY

EfAYere pEUeto] LeH0IL, 8 01212] EfAA0lE gHEESR)IE S0l 2ol Hat

[ & 2.3.4 ] efAgsk U ted= 273
Rebound Correction for inclination angle
value Upwards Downwards E}H uisk
Ra +90 0 +45 0 450 ~90 o
10 +2.4 +3.2
20 -5.4 -3.5 +2.5 +3.4
30 -4.7 -3.1 +2.3 +3.1
40 -3.9 -2.6 +2.0 +2.7
50 -3.1 -2.1 +1.6 +2.2
60 -2.3 -1.6 +1.3 +1.7

ct. 232 E =9 gt

- ME283H5 el 3t

e 44 54 6 74 g8 o [ e 124 134
1.90 1.84 1.75 1.72 1.67 1.61 1.55 1.49 1.45 1.40
ME | 144 154 164 174 184 194 204 21 224 23Y
a 1.36 1.32 1.28 1.25 1.22 1.18 1.15 1.12 1.10 1.08
Mg | 244 25 262 27 28 294 30 324 344 364
a 1.06 1.04 1.02 1.01 1.00 0.99 0.99 0.98 0.96 0.95
Mg | 38 402 422 44 462 482 50 52¢ 54¢ 56<
a 0.94 0.93 0.92 0.91 0.90 0.89 0.87 0.87 0.87 0.86
Mg | 58< 602 622 64 66 68 704 72 744 76Y
a 0.86 0.86 0.85 0.85 0.85 0.84 0.84 0.84 0.83 0.83
Mg | 78 80 g2 84 86 g8 90 | 100& | 1254 | 150
a 0.82 0.82 0.82 0.81 0.81 0.80 0.80 0.78 0.76 0.74
M | 175¢ | 2002 | 250€ | 3002 | 400€ | 5002 | 750¥ | 1000 | 20002 | 3000
a 0.73 0.72 0.71 0.70 0.68 0.67 0.66 0.65 0.64 0.63
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o202 3MMA WESMM (%L M2y AJ&E “JENT L
[ ¥ 239 ] JE)-60BY ZFoAMS
=& tiA] dojt YA (SHH 2L E YA
s A =2 I, dofulda 35
I =FHESHASE) 0.5~20cm(E 224 6mmo|2h)
AEAH A cm™A 2 IEA(E0] HM2028226%) U J|rHns) EA]
e s e 60mmolat g™, £~21H
IAGEHSBENS) | oy =201 smmel 2201 201 6ommoll A= FP
S A/t 5m
Cl&Ze) 0] 256128 DOT, 5% 105t (151212 50cm= 105121%)
sHatA 2] 2% S, WA0|E P
MO17|= EDJ‘IWEI_(%@ HM12096816%), Elﬂi1_6|_
OHHILIZ =7 ON/OFF, HMZ XYZIE ZEA|
o=2e e 102tH 9| o2, TH=5Its
ot gl L} 0.4m/secOl5t, 5242 s
4 T As Y s 4tdet
2HAH o Ca IS e e i Kl
SR YR, AIZE OI0IHH S E A
QR0 2 diogdl 20 d50ts
7| Et ANAILZ, BHE{2] fel, CHHILES =
P 2 ACTO0VE10%, 50/60Hz == DC12V Mabts

ACTO0V : 38VA, DC12V : 1.6A

g 2 Al 225(3) X 173(01) X 300(Z 0)mm, 6.7kg
OE|LY 1 125(3) X 130(5201) X 20024 0Dmm, 1.1kg

Cl. 22t 2] S U
HAIEE Z22E WRoll YAkl 2 HIpE 232 EQF DA &0l teE =28(E2, a8
S)2 UEAIE ALl AAIHANA UIALE[Of, TIAl 222|E 53O SLIHILPIIAL] EZ2AZES
2 CALZAIIIAI AHels ¢ 4 UL
ZAgES g2 YR2 =2 Yoz gAble ez sxoz Pl w2
pulse=0| 33 &2 °F Tns(1/102D)2l pulseZ ALZBICL
ZI2E S| dAH}Sl S5 (V)= Us At &2t

V= (m/s) 01 M, C : AMXAIO] &% (3X10%m/s)
Vey
e y: =23 ES URHE
[ & 23.10 ] HIRHE
NoE Y H = ™ 2 M AE Y H & ™ 2
= 7| 1 o 2 ¢ 7
all - 81 ZS| = 2.4
2 ch 2.6 Mol A
s £ e 8 =2 E
20 Hiy SRTEDNTAIRIA
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st o As LAYFHUL] +X0122 M

(£ 23.11]1 E2 12 A 2

o 542 1H(mm) ZHH AR (mm)
TE 2 | wez | useH | FH2 | #Ez | usel
Al 126 157 50/51
o | 125 150 50
a A2 128 155 53/51
o
s ST 124 151 48/50
o E;THD; 125 150 50
o= S1 126 152 49/52
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221021 3MA WEESH $AU(T% L) M278 A&

o>

&Rl

ol Aol oot S-AlHED] W/C, J[2F tAof tish Eratst 210] x(cm) Q| 2= LSt &
Ct.
0.31.15+3WCO) -
> 0.6 2 o, t= X
we =062 R? (W C—0.25)°
7.2 2
W/C < 0.6 & [f, t= X
/ I R? (4.6WC—1.76) 2
O{JIM, v = EMERRI0] COHAl Y6t 225 = U
X = 2 ANUEH] (U= &9 = AUED])
C = Eketat 2101 (em)
R = ERMS} UIE
=M, atsf 2atMl, AIHES] 57 Sol 2ol JolAl= H4)
[E£2.3.12] 232 EQ EFY EHetal HIE (R)
=M &7 B2 -LAE s BT AN o I N
2ol &7 . AE . AE . AE
| Al E9] é;er Plain | ABRl | 5oy | Plain | ABRI | 5oy | Plain | AEAL | 50y,
YEZTENHE AHE 1.0 0.6 0.4 1.2 0.8 0.5 2.9 1.8 1.1

ZUZSHE AUE 0.6 0.4 0.2 0.7 0.4 0.3 1.8 1.0 0.7

2 &l AlueE

(slag 30~40%) 1.4 0.8 0.6 1.7 1.0 0.7 4.1 2.4 1.6
2 &l AlueE
(slag 60% X =) 2.2 1.3 0.9 2.6 1.6 1.1 6.4 3.8 2.6
silica A|HIE 1.7 1.0 0.7 2.0 1.2 0.8 4.9 3.0 2.0
fly-ash A|BIE
(fly-ash 20%) 1.9 1.1 0.8 2.3 1.4 0.9 5.5 3.3 2.2
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